

**ma-ef**<sup>0,22</sup>

$M.\text{ef}(k,x,s,v,w) \equiv_{\text{def}} E \text{ !} = 1\text{of}(2\text{of}(2\text{of}(2\text{of}(2\text{of}(M))))))(\langle k, x \rangle) \Rightarrow w = E(s,v)$

*clarification:*

$M.\text{ef}(k,x,s,v,w)$   
 $\equiv_{\text{def}} \text{fpf-val}(\text{product-deq}(\text{Knd};\text{Id};\text{KindDeq};\text{IdDeq});$   
     $1\text{of}(2\text{of}(2\text{of}(2\text{of}(2\text{of}(M))))));$   
     $\langle k, x \rangle;$   
     $kx, E.(w = E(s,v) \in M.\text{ds}(x))$ )